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238 Dialogy. The new case forms you are seeing here are the genitive plural. Mdm
dost/mdlo/mnoho tuZek. ,1 have enough/too few/many pencils‘. The numerals 5-20 take
the gen pl. Pét hodin ,five o’clock® (five hours). Dvé, t7i, ¢tyri take nom pl and the verb
agrees; pet (and above) take gen pl and the verb is in the neuter singular. Byly ¢tyri
hodiny, a ted je pet it was four and now it is five o’clock*. Kolik je (bylo) hodin? ,What
time is (was) it?°

Filozofickd fakulta ,humanities division‘. Jdu do papirnictvi pro pohledy a sesity. ,I'm
going to the stationery store for postcards and notebooks‘. Co budete délat, aZ dokoncite
univerzitu? — Prihldsila jsem se do aspirantury. Bavi mé lingvistika. ,What will do do
when you graduate [this is P future] from the university? I have applied to graduate
school. I like linguistics.

240. Kolik je hodin? Je pet, jsou tri hodiny v@doci, sedm hodin vecer, je deset hodin
dopoledne ,what time is it? It is five, three am, seven pm, ten am‘. Note the periods of
the day used with time. Rdno ends about eight or nine and dopoledne takes over. The 24-
hour clock is used formally. Viak jede vI1l6.00. ,The train departs at 4 pm‘. Informally:
ve dve mdm hodinu ZI3estiny. Review the names of the days of the week, also used with
v@End the accusative: idondeli ideset hodin, vtery, ve stredu, ve cvrtek, Viitek,
visbbotu, videdeli.

242. Genitive plural. The table of endings is to be found on 243. Masculines all have u,
derived from —ov (long 0), hence the krouZek above the u. Feminines and neuters have
zero, or, for soft, 7. Feminines in —ice -yné, and neuters in —ist¢ have zero. Zero endings
may have the fill vowel e to break up a cluster. Examples of genitive plurals:

Noun Comment

student, studentu masc all have u

kolag, kolatu

hrad, hradu

kniha, knih Zero

kolej, koleji soft fem
véc, véci soft fem
more, mor{ soft neuter
namésti, namesti soft neuter
nemocnice, nemocnic Zero
pritelkyné, pritelkyn Zero
divadlo, divadel zero, fill v
kavarna, kavaren zero, fill v

parkoviste, parkovist Zero




sportovec, sportovcu zero in N sg, real « in G pl
Némec, Nemcti zero in N sg, real «/'in G pl
dite, deti irregular
rok, let irregular
lidé, lid{ irregular
vejce, vajec ,egg" irregular
pritel, pratel irregular
penize, penéz ,money‘ | irregular
obyvatel, obyvatel irregular

246. Mass vs. Count nouns. Good discussion here. Note that testoviny ,pasta’is mass
plural, as is penize, while ovoce, zeleniny, mrkev ,fruit, vegetables, carrots’are mass
singular. Note mdlo casu \little time, too little‘, trochu casu ,a little time*. Trochu is
mass, mdlo, mnoho are both mass and count, nekolik is count. Trochu is optimistic,
mdlo is pessimistic.

248. Modifiers have gen pl ych/ich, variants ich, ech. Zkouska Adeskych dejin. Hodne
zahranicnich studentu. Jeden ZZ¥ch dobrych studentu.

250: Text: Filozofickd fakulta Karlovy univerzity. This is excellent. Answer the
questions that follow the text.

251. Gen forms of personal pronouns are the same as the accusative, except fem ji (acc
ji) and 3rd pl jich (acc je). Chces se ji na neco zeptat? Zeptdm se kazdého na jeho
mesto. ,Do you want to ask her about something? I will ask everyone about his
town®.

252. Note verbs zacit, zacinat ,start* and (s)koncit ,finish‘. Zacit is not reflexive,
unlike Russian, and koncit can’t be used with an infinitive. Dokoncit dokoncovat
,graduate’.

Practice the times of the day with the rozvrh predndsek a semindru. Kolikrdt tydné
mds nemcinu? ,How many times a week do you have German?*

Note full academic vocabulary. 255-256.
Mcdm konzultacni hodiny pétkrdt tydne, vidondeli, viditery, ve stredu, a Vifdtek vZdy
vgkdendct hodin.

Thanks for your attention,
GMC



